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a—F fh Eik | PER (kg) &F (M) =il i il P (BAL)
30100 72V I A 17 1,285 76 76 76| BN 174
30200 A& 15 194 11 2 2 BN 504
31100 F3E 45 2, 592 864 864 864 | BN 34—
31200 [LEE 648 32 32 32| B 203
33810 HHEX 367 22 22 22 | BA 178
Y3014 KARZE 140 11 11 11| BWN 135
31700 F Y 60 6, 534 1, 458 972 864 | BN 64— A
31800 1EHALAE 8 2, 376 59 59 59 | BN 4048
31800 1EH N AR 63 10, 805 43 32 22 BN 3133
31950 AR E 3 1,188 119 119 119 | BH 1048
31900 ¥ 10 2, 743 432 216 119 | B 10kg
36800 HoX 19 12 13, 608 1,296 972 972 | BN 12kg
Y3041 #LH-o&E kD 4 1, 404 432 432 270 | B 4kg
34400 « b= b 36 8,770 248 248 238 BN 36kg
35220 XM ERHBT 5 3,823 756 756 594 | BN 5kg
35303 RF v TEZIAED 22 7,922 540 216 216 | BN 22kg
36200 EEHE 40 4, 860 130 119 119| BA 40kg
33400 'L & & 18 1,804 130 11 11BN 35
33200 BV T T U— 2 756 378 378 378 | BN 2kg
133300 Yyl — 1 86 22 22 22 B 4fF
33300 Ymyal— 46 12,776 324 270 270 | B 46kg
33303 AT 4y T7myal 3,758 130 130 130 | &N 2948
38100 A LWz 2,992 756 540 540 | B 5kg
Y3030 WIEAE (F) 3, 456 1,728 1,728 1,728 | BN 2kg
41806 =AM A 140 | 32, 238 648 270 270 | B 70% > b
46108 XTI D HEE 98 104, 501 324 324 302 | BN 3263y 7
71150 LT 778 32 22 22 | B 303
71306 7 o= 864 432 432 432 | BN 2k
| 53456 - RiE 6 1,296 216 216 216 BN 6kg
Y3019 HDY 9 12,096 1,512 1,296 1,296 BN 9kg
Y5010 (obsx () 3 3, 294 1,296 1,296 702 | BA 3kg
130100 72\ T A M 10 1,188 119 119 119 | RS 104
30100 72\ Z A | B 80 3,348 486 432 216 | E 84%
30300 A% 2L 70 13, 608 1,944 1,944 1,944 |EIRE 17 —2A
30400  ZiEH L 10 4,320 4,320 4,320 4,320 | H#& 1r—=
31100 BAX 75 2,160 432 432 432 |EIR & 54— A
31200 L 4 1,728 86 86 86 IR 204%
33500 H 5 FK 1 1,307 119 119 119 | F% 113y 27
33810 HEEHE 16 3, 240 54 54 22 EIRE 804%
37440 b 896 896 896 896 | IR & 1 —2
32600 #% 4 216 11 11 11 IR B 204




fh 4 B O &#H
a—Fk i Fk | PR (kg) e#H (M) T o 2l | E (HAL)
31700 F vV B 150 13, 608 1,080 864 864 | IR B 1548
31800 1EHNAE 12 3, 240 65 65 13 |EIRE 604
31950 HAX L 12 4,320] 1,080 1,080 1,080 BB Al —2
31900 # ¥ 5 1, 944 216 216 173 |EIRE 103 (500g)
32800 {25 S 3, 996 86 81 76 | "= IR} 505
34300 72 2L 40 13,770 1,728 1,728 1,674 |HEAR 84— R
34400 k= b 7 1,814 76 76 76 | REA 2485
34400 k-~ b B 24 4,968 1,080 756 648 |EIL B 65— A
34460 I=LF b M 10 8, 294 184 184 162 | BRE 48,3y 7
34100 #I 40 11, 880 1, 620 1,512 1,296 | IR B 8 —A
34100 HK B 10 1,296 648 648 648 | EEIR B 248
34200 F§/K 50 6,912 1, 458 1,458 1,296 | = a2 —— 5 —2A
. K
34520 FRb—~ A L 6 6,912 2, 700 2,700 1,512 |FEIR 34—
34571 X7 YA (FR) 1 842 140 140 140 | ¥ [E 618
34572 TV A (F) 1 778 130 130 130 | #&[E 618
36600 7~ERE LK 60 8,100 2,700 2, 700 2,700 | L8 3r—A
37200 L Xk o5 2L 8 6, 480 3,240 3, 240 3, 240 | R IR 24— A
33400 L Z Z 6 1, 555 130 130 130 | R 1218
33420 S Y—rVY—TLHR L 6 4, 968 2, 484 2, 484 2, 484 |18 [ 24— R
33600 /St 1 864 216 216 216 | & 445
38100 A LW 7zl B L 12 6,912 76 54 32| E 12078y 7
31310 ATE 8 2, 592 65 65 65 | BER & 4048
31500 /A 16 9,504 119 119 119 | EIRS 8048
32500 HIE 1 648 65 65 65 |1 103
32500  HIE 1 1,080 1,080 1,080 1,080 | X%y 17—
34800 B b 1 648 65 65 65| % A 10% v b
36340 T LN REIE N 20 6, 804 389 389 292 R B 20kg
37560 BBIT 1 2, 894 324 324 216 | K4y 108y 7
38400 X DXH 10 2,160 22 22 22 | EIRE 1004
40100 B A 82 5,314 130 130 130 | EIR & 41% v b
Y4017 ‘YU 50T 20 3, 348 1,728 1,728 1,620 | E% 24— R
43810 I AT HE 2 1,296 162 162 162 | 4% 8%y 7
46000 WhH T L 1 432 108 108 108 |G LA
Y4047 HERD 3 2, 808 281 281 281 |f&[H 103y 7
49300 ¥ U 4 T— 9 4, 860 162 162 162 | & 308y 7
A 1,599 439, 806
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